BOARD REVIEW QUESTIONS  (MM—47-48) – SESSION NO. 25,   May 8, 2003

DIRECTIONS:  Each of the numbered items or incomplete statements in this section is followed by answers or by comple​tions of the statement. Select the ONE lettered answer or completion that is BEST in each case and fill in the circle contain​ing the corresponding letter on the answer sheet.
1. 
A 65-year-old man with essential hypertension well controlled around 140/90 mmHg with hydrochlorothiazide is sched​uled for right colectomy for carcinoma. Preoperative EKG and all laboratory values are normal except for a hematocrit of 29% and serum potassium level of 3.2 mEq/L. Central venous pressure (CVP) measured from an internal jugular catheter inserted before induction of anesthesia is 7 mmHg. Ten minutes after induction with thiopental 200 mg fol​lowed by enflurane 3% in nitrous oxide and oxygen (50% each), blood pressure decreases suddenly from 110/70 to 80/50 mmHg with heart rate unchanged at 78 bpm. CVP is now 20 mmHg and the EKG demonstrates a midjunctional rhythm.
After discontinuing the enflurane, the most appropriate action would be to
(A)
administer furosemide 20 mg intravenously
(B)
verify proper placement of the CVP catheter       
(C)
administer atropine 0.4 mg intravenously
(D)
administer packed erythrocytes 1 unit
(E)
administer potassium 20 mEq in 250 ml of intravenous fluid over 15 minutes
90A-13 (19,47)
2. 
Which of the following findings on the left is most likely to be associated with an increased risk of complications with cannulation of the left internal jugular vein compared with cannulation of the right internal jugular vein?
(A)
Longer recurrent laryngeal nerve
(B)
Lower location of the cupola of the pleura
(C)
More acute angle between the internal jugular and innominate veins     
(D)
More anterior location of the phrenic nerve
(E)
Presence of the thoracic duct
90A-71 (47,6)
3. 
A 60-year-old woman who is taking propranolol for hypertension and is allergic to penicillin is anesthetized with thio​pental and halothane for resection of an abdominal aortic aneurysm. Shortly after intubation she is given vancomycin 500 mg intravenously, after which her blood pressure decreases from 140/80 to 70/50 mmHg while her heart rate remains steady at 64 bpm.
The most likely explanation for the decrease in blood pressure is
(A)
cross-sensitivity of penicillin and vancomycin
(B)
interaction of vancomycin and propranolol
(C)
vancomycin-induced anaphylactoid reaction
(D)
interaction of halothane and propranolol
(E)
interaction of halothane and vancomycin
90A-89 (47,7,13)
4. 
During laser microsurgery of the larynx, a rubber endotracheal tube wrapped with aluminum-foil tape starts to smolder and give off smoke. The first step is to
(A)
suction the endotracheal tube
(B)
add helium to the inspired gas mixture
(C)
remove the endotracheal tube
(D)
turn off the fresh gas flow
(E)
pack a saline-soaked gauze sponge into the hypopharynx
90B-30 (39,2,47)
5. 
A 20-year-old man involved in a motor vehicle accident is brought to the operating room for irrigation and debridement of open fractures of the femur and humerus. Cyanosis, decreased breath sounds on the left, increased peak airway pres​sure, and hypotension are noted after intubation of the trachea. The most likely cause is
(A)
aspiration
(B)
fat embolus
(C)
intubation of the right mainstem bronchus
(D)
tension pneumothorax
(E)
unilateral bronchospasm
90B-81 (47)
6. 
A 30-year-old primiparous woman delivered a healthy infant by cesarean section during uneventful spinal anesthesia with tetracaine 10 mg in 2 ml of  5% dextrose solution.  Twelve hours after delivery she has bilateral loss of pain and temperature sensibility, but not touch, below T8 and paralysis of both legs.  The most likely cause of this complication is
(A)
chemical arachnoiditis
(B)
injection of tetracaine into the spinal cord
(C)
demyelination of the posterior tracts
(D)
thrombosis of the anterior spinal artery
(E)
cord transection from spondylolisthesis
91A-77 (16,43,47)
7.
A patient has sudden cardiopulmonary arrest five minutes after  retrobulbar block with 0.75% bupivacaine 2 ml with hyaluronidase for ophthalmologic surgery.  No premonitory changes were noted on the pulse oximeter.  The most likely cause is
(A)
allergic reaction to hyaluronidase
(B)
direct cardiac toxicity
(C)
oculocardiac reflex
(D)
intravenous injection of local anesthetic
(E)
subarachnoid injection of local anesthetic
91A-81 (38,47)
8. 
An axillary block is administered to a 60-kg patient using 40 ml of 0.5%  bupivacaine.  Ten minutes after placement of the block, the patient has a seizure. Which of the following statements is true?
(A)
A low serum albumin concentration could have contributed to the occurrence of the seizure
(B)
CNS hypoperfusion is the most likely cause of the seizure
(C)
The seizure was probably secondary to an allergic reaction to the local anesthetic
(D)
The use of an equipotent dose of lidocaine rather than bupivacaine would have decreased the likelihood of the seizure
(E)
A large amount of the local anesthetic must have been injected intravascularly
91A-87 (14,17,47)
9. 
Immediately after a retrobulbar block for cataract surgery, the eye grossly protrudes and the patient has the sensation of pressure in the eye. The most appropriate initial intervention is
(A)
hyperventilation
(B)
surgical drainage of a hematoma
(C)
manual compression of the globe
(D)
administration of atropine intravenously
(E)
administration of mannitol intravenously
92B-66 (38,47)
10. 
Which of the following is most effective in decontaminating an anesthesia machine that was splattered with HIV-contaminated blood?
(A)
Bleach
(B)
De-ionized water
(C)
Ethylene oxide
(D)
Hydrogen peroxide
(E)
Isopropyl alcohol
93B-70 (29,47)
11. 
During cardiopulmonary resuscitation (CPR) in an adult, external chest compression is being performed at the rate of 90/mm with 2 inches of sternal depression and a compression-relaxation ratio of 20:80. The most appropriate action is to
(A) decrease the rate of compression
(B) increase the duration of compression
(C) increase the duration of relaxation
(D) increase the depth of sternal depression
(E) continue the original pattern of CPR
90B-39 (48)
12. 
An infant is delivered by forceps following labor in which variable decelerations were noted. Amniotic fluid was clear. Initial evaluation shows a cyanotic, limp infant with a heart rate of 80 bpm, poor respiratory efforts, and grimacing in response to suctioning. The most appropriate method of resuscitation for this newborn is
(A)
vigorous tactile stimulation
(B)
bag and mask ventilation with oxygen
(C)
immediate endotracheal intubation
(D)
administration of sodium bicarbonate 1 mEq /kg
(E)
volume expansion with normal saline solution 10 ml /kg
90B-93 (42,48)
13. 
Maximum current is delivered to the myocardium by a countershock for defibrillation when
(A)
paddle contact pressure is minimal
(B)
petroleum jelly is used under the paddles
(C)
previous countershocks of the same power have been attempted
(D)
the patient is grounded securely 
(E) 
the shock is applied at the end of inspiration
91B-28 (48)
14.
Which of the following statements concerning resuscitation after a witnessed cardiac arrest in an adult is true?
(A)
Bretylium is contraindicated for refractory malignant ventricular arrhythmias
(B)
Bretylium causes complete heart block after previous administration of a loading dose of lidocaine
(C)
A bolus loading dose of procainamide suppresses premature ventricular contractions
(D)
Routine administration of calcium salts is not indicated
(E)
Sodium bicarbonate should be administered at initiation of resuscitation
91B-93 (48)
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15.
The EKG rhythm shown above developed during cholecystectomy in a 62-year-old man who had a myocardial infarc​tion and is taking atenolol. The drug of choice for treating this arrhythmia is
(A)
atropine
(B)
bretylium
(C)
isoproterenol
(D)
lidocaine
(E)
procainamide
92A-133 (20,48)
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16.
The ECG tracing above shows
(A)
aberrant intraventricular conduction
(B)
acceleration of phase 4 depolarization of the sinus node
(C)
a compensatory pause
(D)
initiation of re-entrant supraventricular tachycardia
(E)
paroxysmal Atrial fibrillation
93A-93 (19,48)
17. 
A 40-year-old man is undergoing open reduction and internal fixation of a fractured femur. During anesthesia with fen​tanyl, enflurane, and oxygen, heart rate decreases to 20 bpm and 6 premature ventricular contractions per minute are noted. No pulse is detected. The most appropriate next step is to
(A)
administer atropine
(B)
administer epinephrine
(C)
administer lidocaine
(D)
apply a transthoracic pacemaker
(E)
start cardiopulmonary resuscitation
93B-55 (48)
DIRECTIONS: For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. On the answer sheet fill in the circle containing
A if only 1, 2 and 3 are correct,
B if only 1 and 3 are correct,
C if only 2 and 4 are correct,
                                                                   D if only 4 is correct,
E if all are correct.
FOR EACH QUESTION FILL IN ONLY ONE CIRCLE ON YOUR ANSWER SHEET
DIRECTIONS SUMMARIZED

    A
  B
  C
 D
    E

 1,2,3
 1,3
 2,4
4
All are

Only
Only
Only
Only
Correct
18.
A 6-year-old girl is receiving nitrous oxide 60% in oxygen, isoflurane 1%, and atracurium for a tonsillectomy. After the first tonsil is removed, her temperature is 36.90C, heart rate is 198 bpm, blood pressure is 130/80 mmHg, and end-tidal carbon dioxide tension is 72 mmHg. Appropriate management at this time includes
(1)
hyperventilation with oxygen
(2)
discontinuation of isotlurane and nitrous oxide
(3)
analysis of arterial blood gases
(4)
administration of propranolol
90A-115 (47,44)
19. 
Susceptibility to malignant hyperthermia is confirmed by
(1) preoperative serum creatine kinase level of 1000 IU/L
(2) masseter muscle rigidity after administration of succinylcholine
(3) history of malignant hyperthermia in a sibling
(4) 
positive halothane contracture test
90B-116 (47)
20.
Potential complications of a waste-gas evacuation system during nitrous oxide, oxygen anesthesia include
(1)
collapse of the reservoir bag
(2)
administration of a hypoxic gas mixture
(3)
development of a tension pneumothorax
(4)
hypoventilation due to disconnection of the system at the relief valve
91A-50 (2,47)
